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��R%�������	��N������2��5���$

��
�����

���!�����	�
�������	�	����������
����!
��� ����2�	�2%�������������	�� ��2����NX��������	���������%
���7��
��
N�

��������
���������������!�������4�	���8��
�	�����	�2%�������8�5���N$

L�����	��������
������������		��
����
�  «��� ���'
����	&����������
4	�
�	�	�
�2��������	��������� ���'%����
��������N%���	�4	
����	������	�2������ �����������4	
��4���
�	�����8�����		�	���
�	���
����4	�
���

Q�	�4�����	���	������������������	4�	
2���4�'

������� … ?»).

L���	��������
�����������

��������������	
���#���	�	%
�����4�	��	P�	��
�7���	%������	����������
�2
����	�����2���
N���	����3	����6

6��	��7

��
�	���	������#��������
�	�����	  ���
���

���
��	�����	�
�� ..!!!

3�	
��4��-�	
������
�		�� ����	�����*���'����



86 87

�����	�����&�������	����4����
���	��	���N��������#�����
4	�����4���4��4	��������
4	�
�	�	�
�2��%�	
	����	���
�	��
�������
���

��������#�
�
������
���
4	�
��3�����


Q��
4	�5���6�
�	���������'�!!!).

 	��	���6�����
42�2��
�	
	�	�	�4����	����
�4����
'�.����  ��������� � Q�	�	�2��� �'�.���  ����� ������7��N�
����������R�6�
����	���	�	����7�������������%�������$���� ��.

1	����	�7������
�
�������������4����������
������	������������
����	4	�����
�������	�����	��%

�����7��������	��������5�N������8%
���������
��������
��������	�	�����������
��$

Z���
�����	%�	�����4�	P��L�
��Q�����������
����7�
���N�

MR������	
����������
�������	
�������
		�X���
��
	��	�%���4�����%���	�����������)"��������
	
���4��
���
�L��
P��	�����P���6������2���	������������L�P��	��	��	�	�
�����

�	�	�
�����L��3�����1�7������
���Q�����1�7�����L��3���
a��
�R� � 4	�	�
�����2�� ��
��� � F��C���� � B�P������	���
9	������� ��7���«��������»  ����%�
��	
�	
�����	��2
�
���%���	���
4	�
�	��
�	�	�������»  T  «�������4�	�
3	����	�
��

�	�	�
�	������������%�4	
�	������������(�� �
8�������
�
�	
�����	����
��	���������	���a�6�4	�	��	�	��	����������!

�
�������������	
�����
�	3	��	�4�����N�����������	����	
�	���7�8��	�	�4	������
�4	��23����	P���a

��;$��X�'

1) ;�'�������
4	�
��3�
�	��
�4�����N������	���������������	�
�8���������%��	�	�2���
4	���	������ ��U4	�
�	���

�	�

�	�������4	�������5�����B$ $K����������

QV	
���%������	���9�

����
�2��%�0O.S��$Rj

6�4���8����7�


��	������#���
����2
�����23���
��  «	���������»

���3�����
�����-����  	�	
���
����	
�»

��
�����4�����
N��$$$

E��7��
������������������������		��
������������' ��!
�'»  ��
�����	������	4�	
2���4�'

��������	�����	�����������  	����  ��?�>��4��������
7����
4	�
���%�����2��
%���4�����%���	�4	�
4	�
��'

-bara T �	�%���
j
mori T ����,
oki T 	���2�	���	����QT��b������cRj
okoru T occur;
susu T 
�7�,
sudzuki  T  
����,
usui T �����,

       ���Q(����� !!!)    masu-otoshi  T  ��(���	�����?

-�����'
��� ���� ����
��	
�%���
�2�����
�	���
� ���!
���������������↑��Q���������R��
4	�
����
�	����Q4	�	��	�	��	��R
�2��
�
������������
�2����'��.��%�	����	����������������"
������
�

�������4���
�������2����
����������	�����

���, ����������4���
����
N��3�
%�
�	�������
���	�
�

�
����
���P�������'���
������������	
�'���
������������
����
P�����������	����
�����2P�����$

���
�����7��6�4	����	���	�������������4��������Q��
�	�
���%�������4���
������	�����	��	
����;����	�4	������	��������!
��	
��R�6��	��������������&����  ����	����������������
4	���
�	���2���'�.�������������������
�����	�������
�����3������!
���������
��������P�3���2
�������Q
�

2����������	8���
%
�
��
�����	MR%����
�����	��	�
��7��%���	��
���	�'���%�4�����
�8��2������	�������%�
��
N�

���	��������������������
����

�	��������������Q�	������������ ��MR%��	�6����N�	��
������6

3�	
��4��-�	
������
�		�� ����	�����*���'����
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8����

;6���5.

�

U �1�Y�p

8�������D6

QV�9:�K�<�UR$

����S=�,>���8�������162D�6$

����������
����������

�	������3���
4�����
4	�
�	�
����������%��������	'

0R�����	�	�2�����	
���;

!R��
������N������
���
���!�������������

4���������
�����������  “-ta”;

(R���	�
����5�N  «�������	������	
���».

��������
���  �������	��������  �	���8��
�2��

�'		������  ������	���,

�
4	�����4�����	���Q
������	MR������	%
��	����
��́	�������	����	����
��
�2�	�23��	�����������'��

	�����	��������'���-$��	�����
�2��
�2���	���������������	�
������������Q4	����������MR'

1)
«)��������QdR����
4	�
�	��
�2���	�����N�

�4���4	�	�

X�����	���������(“watashi  oc��T��������»,  “sono machi  kara”  T
«������	�	���	�	����%���4�$R%��	�	�2��
�4���������N�4�	
�	
���Q��������)  ��	
������6���	��
��������
�#�-��  	��������».

���� �́ �
4	�
�	�� 
�	�	�4��� ��	�� �
�� � �������
	�%� � �
��������/��	
��������4������
��

�������%���4�	
�	�
�����



���������	�	��Q�������8��	�	MR��
�	��$

E	��	����	��7��
��������Q�	��	����	��	��������	����

������������
�	��R��
�X�
������������

�	��
�2��%���4�����'

������	������d���6������P���������!».

!R 1	���������������
�	���������
�6���	�������	��K�����������6

4�����N���
������������%��	��
�����������-».

 �	
�	����>�	����M

���
8�7��4	4�	P��L�
%��	�	�����	����������%�����2��
������'(������4�������	�
����
���	������	����	���������	�
4	��������	���������������	%���	���	������#
�������	���	
��	����
�	��������������'������%��	���
�	�����
�	�� �
����%
��4�����'

Q��$R��?rmuI��T�����	���Q←��'		�$������!�R$

�%�3	�
�6�4�����Ń�6���	�����Q�	���#�
!������	MMMR����	
�	&��	
������2������
����
���������	���%�����		����
�����%
�	�
��
8�����	����N������4	�	��2��4�����2���
�	N������%
4��
����
�4�����	����
�	� �������#������ �5���%���4	�	��

����
��2�����X���

���4	�������	��P��
4	�
��3�
�	�$

����
��������������%
������ ��������%

!""(6!"")���$

3�	
��4��-�	
������
�		�� ����	�����*���'����
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�R��3����
�'�&��
��
4�����8�

���4���4	�	X�����	
���  “-ni” –

6��	%���������������	��	7�	
�����

�������Q�	��
����	�������!
	
������, 	��������������������	���

������
�	��R%��2�6���
��4�
��

�M�6��	7���4�	��
�������������('#��4���������

����
��2���
��

4����	�	�  “in”:

(h)uti-ni  T  in  (the)  hut

(
4.  “ti”  T→  “chi”);

�R�����
����&
���!��4	�
4	�
��
4	���2����

� ��	
����  “-no”,

�����6���
�	N�	�������6��
�����	���	;�	��;dake  ��
������4�
�
���P�
��Q	4
���7����'		��-$��	���R��4��������'

(k)inu-no  kotsu��T��
	�����
����	
����(����.)%

�����
��4��X
Reningurado-no  ie  T  Leningraadin  talo  ($��.);

�R���>���������a����a���������4	�
4	�
��  “to”:

Ikari  to  hi-bachi …  T��U�	�
  ��  4����a

e������������'�����	�����
	N������»  T  «�»;

7R���,��!�����Q�	�	�	������

�	��������������������
4�	���	
��

������������R��4	�
4	�
����6  “dake”:

… kago  dake a��T��a��	���	�; ����  ������

(kago  [��.]  T  cage  [����$v��T��������R$

�������������2P
�����b9JRc%��b9JRKJc��T����	���	�j

�R������������	�	�������

�4	�
4	�
��
�����	�
������  ��	
����  “…  ka ?”,


���
X��

��
����
����4����	7���
$

������������ � 
������� 
�X�
�������� �� �'���-$��	��&

�2��3�6�
��	����P�������5��%���	�����3������������������!
���� � Q�	7��
�	��	��	��� ���	�����MR� ����	�
������  �� �����'

�	������
���	���

���	���
��N$

 �����	���

����  «���������
�	���������
Q��������
���
�
��3�
�2��3R��4�	�
3	���������������:

Suomi  →  Suomesta��T��:���
����/ >���:���
����
(“-i-”  →  “-e-”).

���	�����	�	�2��
4	�
�������	
���,

�	�	�2��4����������	8�����	������������'

�R���-���
������������������
4	�
�	��	�������


4���4	�	X�����	
���  (T  ���	���)  “-�”:

musume-o  T�����	�����
Q����������e'����	��
��'��
�2��3���8������»),

teburu-o  T��
�	���;

�R���>�»  T  “-kara”.

E���7���
4	������������	
����'#��Q�	��	7��NdR

�X�
���NX�N����������4����������Q����2��
���L��>���_
���  ����
����
��»  ������&  	����	��&  “r-l”):

��������d�j

�R��+����
��
������
4	�
�	�
4	���2����

�4���4	�	P�����	
���  “-e”,

�	�	��
����
��	���	���������(�
	��������b�he”:

Watashi-he  T  9�  ���j

3�	
��4��-�	
������
�		�� ����	�����*���'����
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���������7�'
�Eoketa  ko	ri T  ��
��
�P��  �8�

QT�����
�2�  '��	��%

4���8����
��N�	�	�
4�5����
���4	��	�����
������'  ��������!
��#  �����  «�� �������btok�c��
��
N�

��Q�����	R�	�
�����2��$

���7�	��������
���  “k�or-i/ '���	�c��
����	�	������������j

2)  ���C	��������)��)���  �������  ��	�	�����	��'

Watakushi-wa  kono hon-o  kakimashita  T��U����4�
��
���������%

�'
        I  killed  that soldier  T  U ����  �	�	 
	�����.

1���P����������	��
�
����������
4	���������	%���	'

�R����������	�����	�����
�2�������)��)��  �����������	����
��!
����	����	�2���	
��4���4	�	X������������  «-��%���4�����'

�4��P�����Q
�$����<� ���);

�R��4	�4	��
����� �
��	��
�����)��)��  �����������	��
	�������

�4������
��������������  “-d�”:

“przyszed�”  T���4��P8�»;

�R��4	���

�������������	��&��
�2��3���
����������  ��������
��

�����	�������

�4������
�����	'$$��	�  «-�-/t-»%���4�����'

�4��P��P���%

bwI8xl;wIî8c��T���
������2��$

����������	��
��
	
�'#�'#���������0!"t

C��
��N�������	�
����'#����	
��'  “-ko”,

�24	��
NX�N������&����������C���5�N%
��4��
	����
NX�N

�������
����
�	��'

Puhutko  suomead��T��QE2R���	�	��P���4	�C��
���?

�'

Anata-wa  nihongo-de  hanashimas  ka?
         L2��	�	�����4	�
4	�
��dj

2)
Y������������
�2��
��
��

�C������������	�	

�	������������Q������'�������%�����$'�������������)  «����&»
���������

“-ta/-(�)d”,

�	�	�2���Q4���4������������3�����������')

��N�  �����	�&��	�'���&  –

–  �����
4	�
�	�%�������
���
�
��3%����������������	��&���
�2��3��6

–  ���
���
��  (!!!R�����������2%

�������	'

	�����N��	����	�	�����	��

1)  �  ��������
��:

Kaite  shimatta  hon��T����4�
�
��
�������%
����Q�����	���
�R

���'

kaita  hon��T����4�
�
��
�������%
�����:

 a killed  soldier  T  ����2�  
	����.

3�	
��4��-�	
������
�		�� ����	�����*���'����
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��
4	�
�	��	�������

��

����
��������������������»  T

T��
4	�
�����bContinuous” –

6��	��
�������	
�'����%�4�����NX�
�����-���������
����$

PQ
T
 ���8���  ����  ����	�	�  “iru/ oru”  QT  « �
�»)

���
�����7��
���
��$'�����%���	����������������	����bbe/stare”  T

T��4	���2����  
����  ���
���
'

�������1�
�$����� �	P$�������B���X$

 “yonde e imas/imashita/imashoo”  T

 T  “am-is-are/ was-were/ will be e reading” !!!

1�7��
���2���7���������	�3���5����
���� �$

�Q>9H=1.

1���	������
�	��
�����NX���

� ��������  	����	!
��&%�����2��	�	�23���	��
��
	
�'#
�����������������
�	�
��3�����	
�����&��
�2�	���Q�����������������������������
��R%

��
N�

�
����NX������'����/ «��������'

0R     w↔
↔�↔	↔�↔�;
�����	

!R������↔�↔�↔�↔�↔
;
              	    	
(R      ����'↔�↔�↔�↔�↔&

           	
         � #/�&!.

Y�	�����	�	%���
	�������	�� ��'		���� �
�2��� � Q����	%
��4�����%����
	��������������R����	�2��2����
����������
��������
��  
���  �	����	����	�2����

�4���4	�	X�

	'$$��	�  «-�-»:

�4	5���4��2��%���4	��
��2��%���4	�	���2������4�$

` NB.
Y�	����
��	�4�	���	��Q������
���������MR%�4	�
4	�
��

$�����  ���)��)���  �������������	�����	7����2��7���

���

������)�
���������
���N��Q���'����	�&��
��):

1�%�4	P��M��T��Saa, itta!

   MattaM��T�� 	�	7��Q���RMj

3)
L�
4	�
�	��
�X�
���������������������$����%�	������

NX�


�4���4	�	X������������  “-te / -dec%����
��
NX�


�6
���	���7��6�4	��2���������������������
�	���ING����  $����

(T  �����		):

yonde  T  reading  T  �����.

Q\���7���$����������	���
�X�
����������������	��&��
�2��3'

J@yy@zT<��Q�
��$R��T��{lzTF��T�������R$

1	�
��2��������
�2��
��
��

��	��C���%���	�
����
����

������  /�� ��C	��2�����	��

Q��4	���	�����
������	���7�
������������	���'���4���5�4���T

T  «	��!  �����-��»  T  “be  reading” �T��bU8VOF��J@yy@zT<c��T

T��“yonde  iru”)

3�	
��4��-�	
������
�		�� ����	�����*���'����
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8����

�����5.

�����U  ��9�1@��:, 3A+  …

��5

�D2����:

�E	���	���  ( �����)�����
�

�'��
�2��3

Q���NX�3���	-����4�	�
3	7������MR


�	����
����&���������������

�	���������������
���
��

�
�������#�����	����
��'».

I.

�R L	���8����

�	��
�	�	�����
���6�	�	�4�	�
3	���
	����
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�����	���%���	��������������������L	��>������

��
 
���N
��	������	
�&

4�
���
���>��C��  	����	����6

6��	��	����	��Q�����3����'���R�����P���
��	���
	3������
�M�$

3�	
��4��-�	
������
�		�� ����	�����*���'����



98 99

��S

�B���'

����C�����������3

���
�   H;S?+-+T� �H]+��,>

����	��	�������
�	��

�	���������

��>+�9��@=   �
�������#�����	����
��' !!!».

II.
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���������
�
4	�
����
�	�	�
“mado”  T  «����»,

���NX����������/�	���'  «�������Q←T����

�$����	�-»)  –
–  �
��������,

���6��
		����
�����	��6
>


?�

���
V  	����
��'���
���������
�;�
������
�$

E	��
��%��	���
�3��3��
�2��3
Q�����

�	�%�����������
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�R ��	�
�������3����O�N�����������
��%�����	�	�23�4	�����
����'����	����
�2����������	������������	���%���	7��6����
���	�6����������4�������	�����	�������
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�	��%�����'
��&���4�����	���>�?�  ���'����	�  >��C��  	������Q��4���
���%���

�	������-	�����
�
����P����������  «
��»  («
���
����R��4��������������������&���2�	�����������������'��!
������  “esock”).
E����	���%���	��Q�	7��4�	�����	MR�������������	���  «����

4�	���	
��

�	�2��	����'�����4�������������������4	���
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	�!

�		����
�����	%����
�	������2����»
	����Q4��������	
�������)  ��������/	�&������

�	���	������2���	���
«���»;

�R ,����	��� “hc�����bs”,
“h-r-l”,
“yc�����bk/g/h”,

�����7������	���  “o - ic��	�������
�	��Q���������
�'M��
�2��3R
������N�



 (“hare”    [T «����» �4	�����$]  ←T  «����2��%
“Halle” T “Saale”  [T  «'	��-���»],
“sora” T “ciel”  [����.-$����.]  T������	���←������/���»,
“Stock” T “stick”  [���.-����.]  T���4�����%
�
���� T �
i�����}'�����.],

«)���	����������
��!»  =→  «)���	�����������
! !»  –

6���	��	������4	
����
�
«	��������	���»  “sten”,  }«��������»  “Stein”, T  «����
!»;
«������	���»  “stone”
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�	��
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�2���������	�$
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�B���:
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����	������P�

�
���������	��-	����
���	���  «�������»

«9�3=�1q��↔���EZ1�→STONE  ↔  9�H^e»
�	�����	����
�	�

���!��

�������3�����
� ��
�2�	�	����	-
���� !!!».

III.

�R� �Z
���4	4�	
�����	�	����	� � ��������
�� � ���

�	��
�	�	
«��	��»�������	�	
����#����%��	���4���2���	������	���
P��
��	��N�����Q4�	�����	MR���������
������8�

���	
���'  «���������������  «	��».
1	��2������%���	���	�6���4�������	%������������
���Q����_
>����2������
�����	
����,  �����,  	'$$��	�����4�$R��4�	�
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��4��-�	
������
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���� – ����%
���� 6 �	�����

%
��� 6 �
�%��������6���N��%
���	� 6 �
�	�%���	��6���8��������$�$

1	����
,  #������	���4	
�	
��	���	��
��
	
���»
(���	
������������
�� ...)  ��.
  –

6�������������	�	���
�����������
:

«�	���»  =→  «���������←T����2����������Q����	�.).

«��������*���'����!  ��������	'�����	��!».
�$�$ �P���$

���

�B���B:

1) ,��!�����������3�����
�   H;S?+-+T  �H]+��,>

�	�����	����������������↑���	
�	P�2����������,


�
����2������
�   �
���������  («
���3�;��� �
����R

�����NX�������
��  	����
��' !!!

2) ,����
�2�%�����	�	�	��6�����������
�����������	���������6
�	���2�����������  ����%

���P���4	�������	���� ���'#���  ������
�
Q���	����
�������
�����'��&���
�2�	�R%

��
��
��


Q4	�	��	P���N���� ��������	
��������
�2���R

�&  ��������� !!!

����� T ��i����['�����.],
�
�������� T bsag-en”,  “say”  [�'	.-���.-����.],
“pag-are” T “pay”  [�
��.-����.]  ��4�$R$

 	��	����������������	%���	�
	���������
Q��	�����������
���	���	���������	����,

���
�������
��78��	���������������	���C���
  �������(����)

��

�����	���  «-���»  «������
��	�»

0R���→  	����  “hoch”  (���.),

!R��4	�	�������→  “high”  (����.).

E��7��	�%������	%����������$���'  «-	� ».

��;��2: 








���6�'

�,9I�����������
�
����������� ������d��←����
���3��!!!
  ↑

����
���� !!!

���
�7��

�	'
«-	��/-�� »  =→  “high”  →  “lig-ht”  →  “hik-ari”

 (T� ��.���
����%����������R$

�� ��������7��4	P�������2�������beakar-ui”, “eake”����4�$

 	
�������	�  ↑  ���	�
�����7��
�2��	�4�	
����L�

�
4	�������X8�����	��L��>������  	��
��
	
���  “t -s”:

��� – boat  (�������'		�. – ����.),
terra – sierra  (�����	���),
eat,  äta – essen  (������	���),
������, veta  –  wissen  (�'	$%�(�$����$),

3�	
��4��-�	
������
�		�� ����	�����*���'����
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9��d � ��� � ,��%

���9��d � ����.� � ���,��,

����������$�$

����������D�5  �  «	�	
���»  +=����������2��

���������	���������
�����'�����  
�;-�A�H���–

–��	����>1+�?�Q_+��!!!
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�2�	������4	��2����������������'

9	��	 � �	��	 � ���	 � ��	�	d
�\�	�� �E	�� �L	���	�� �Y��	�d�

9	��� � �	��� � ���� � �����d
�\�	� �E	� �L	���	� �Y�	d�

9	��	 � �	��	 � a � ��	�	d
�F��
�� �E��� �<��d�

����������������������'

9	����� � �	����� � ������ � ������d
�F��
�� �E��� �L	������ �<��d�

;���a3

1����6�Z

L�� 9�1UE��

;�����3��8�

�6F6��5

L	���8���!��	��
��
	
���'

�����6�,���
�

L>@kkI�6�`@kkI$

Y����	
���2%�	���
������2�6��	�4	
�	�����'

?,�%���	
4	��%�L����=][����7�	

4	
����	�������3���	���	
����N  «��'��» ???:

9��d � �
� � ,��j

9��	�d � �
�	�% � ,��	�j
(T  «�� e�	��R � (T  «���e�	��Rj

�e�
���

9	���d � �e����� � ,	���j

9���d � �N�� � ,���j

9���d

 ��Q����4�����
4	�����


 «9���  �����(�?»  T  «9���  ��.(�d�������������MR

9���	d � �
� � ,��j
(	
���	�����.)

$��d�(T  9e��
�dR � 1��
� � ,���	
�%
� ���1�� ,���	����j

9	�	d � ���	 � ,	�	j

9	��d � ���� � ,	��j
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��4��-�	
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NB.

U����	�
�����N�������?��������	
����
�	�����
�4	���
5��������	����'��������
3	�
���%���
�4�	
�	����

�	��4	��5��
�	�	%���	��
������
���������3���	&���&���
�	����������
��	
�2��7���2�������7������
��2���Q�;���	��	�����	��2���
��
�2�M�����/��������������� !)  ����
!��Q��������
�
��R%��	
�����	�	�	���
��
��

��	���
����Q������	��
�	�	�6�������	�

�������
4	�
�	��6�
��
��

�������������%�4	
�	�����4������
��
����
������
��
4	�
��������������������
����������'�
	�).

 ���8��
�
�����

����	�����������

���P����
��������� –

6���
�	����
	4��
���������	����
���.

1	��7����	�
��
���������6�������	��
�����������������!
��
�����#���
�	���������	
���	�����������������3�������23
��'���$

���2�	�����������	����������
������	������	��������

�2�����������������	����$

«,�����������
�	�������23�
�2�	�%���7�	�6��	����	
7��6�����2����'

1)  ������

��  	��
��
	
�������7�����������
4	���������	����	����
��	����	����%

����
��	
��%���7�����' ��-�' ����  «�-	»,

�����7�����-	/���������b
/w-�”,

���������������������4�����' ���2��� T→ bfloat”  (����.),

«	��
� T→ bfuri”  (��.),

«		����� T→ bmore”,   ��4�$j

2)  ����������>C  ��	
�����	����	��&�����
�;��
�
�:

afureru  ↔  4���-���-�
��  ↔  full / fill

(“fr-��-fl”);

8����

��6�35.

�

U �1�Y�p���6D2�D6.

����S=�,>����6D2�162D�6$

�����'

«����������4������
���4	������	�	�������������MMM�$

L�����	����
���������4�������2����������2�4�	�����
�8��	�	���	N��	�����
�������  �������  ���������
4	�
�	�	

�2������4�����������������  �����?��   «	&���	
����
4	��

��3�
�	��
	�
�	�����������'��
�2�	�$

������	���	��2�	��������3�4	�
���	����������	4�	


	�������'�&��
��  
4	�
�	�	�
�2��$

��D���	���	��	��������
�6��
��
�����	�6�����2���
�	��
Q
��	MR����
��	������4�	�
3	7����
$�U�4�	��������	������	���!
���, 	���
� ��
�	����2��
	
���������	��
��	�	�́�
4	�
�	�	$

�	�	���	�P��	����������
����
�������4��	����
���

��	
�����
��	
�� ��2P����
� �4	��	��������� ��
����!� � �
�����
�/'	
�����
����	%���	��	����
�����	�6�4	������	�–

�����������$$$

L����	�	�23�
����
3�����
�����2�����
��	�%��	����
���P����	�����
����	�2���������2����������	�%��2�	�����

��	������'�����%��2�����	����
�2�	��	���	��P	�	��������!
	
�������	�������3���'�.��&���Qe�����
'���	
���R����������N
������Q���N�

�����������	�2%����	�	�23����	�2�42��N�


�
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;���6��


�����=�$

0R ���
�	��

bPabBc

T���
����

NB.
Z
����2��	
4	���������	
���Q����P�%��������P�R����

�2���
�	���2�����������������2����2��������
�2���4�
�����
��

����5�����4����-���������'�������	��
��������'��
�� ��!
�������	
��  “-wac�����b�gac�����0O!(���	���%��	����������	����
�2�	���4�	�������	%���L	���	%���#��������
�	��

“mizu” ..???:

0R��
4	�
�	���b�zu”  (“-dzucR��6����	���P�������»;

!R������	�����	�����» ��8��	��	��
��
	
�'�
  «
»:

�
��	
�������6��
���������Q��	��
���R%

   «
�
���→��bmass”  («��

��R%����4�$j

(R�����
��
��b�i�c�����	�
�����23�
�2��3���
�	��	��
��
	
�'!
�
  «-�-»:

hill 6 3��� Q����$�6��'	$R%


����� 6 
����� Q'�����$�6��'	$R%

stick – Stock (����. – ���.),
��4�$j

SR��������	�C��
��3�
�2��3�������»  T  “viz / vesi”.
          ↑
      “mizu”!

E	��
��'

Mizu  ←  midu  ←  vidu  (viz/vesi)  ←  vodu  ←T  ���� !!!
        ↑

����������;
������
 ↑

�����U
��������M

(R���	��	7�	
�����

�����%��	��
�����������������	���3�����3
7���	����	��&  

������������3;�	�
�����23��
�	�$

\�	�
�����������N����

��	���	��3�
�2��3� ����
�'
���44%���4�����%�������
�	��
�	�	��bbird”  T  «�
����������	

��������������
�	�������������bbrid”  (“ir – ri”)��T����
�����.

������

�	�4	��
��
������:

����0���! �������������!� 0
C���
�  ↔  futeral  (“�� – rl”).

��6������(����
������6�bakaruic��Q��$R��↔���
�����

(“kr-OX”);

SR� � ��
��N���	�3	���	
��� �����
��������/��		
���������
���������  ������
� %�����
��	��4���4���3	���
�	������	��	�	

�2���������	������4���������������  ��$����������
�2��'

eabaraya  ←T  'e� ���.

QF��
������������N��'
������'#����������N��	����	�'#


�	�	�����N����#	������4�����
�	�	�R$

\����	����)���������
��
N�

��������
����2����4����
����
�����
� �
�3� 
�2�	�%� ���� ���� 	�����4�
��N�
�
���2� 

��
��'�������������	��	7�	
�
�������	�������
���	�������
�����	�$

 �����	�%� 4	��	�
N%������7�	�	���X���� � Q�����	�	R
�������
��������	���%��	�	�2��
��
N�

�����������'	
����!
����� ����	���������
��

���7����

���
�'� �
�	�� �	��������"
��
�

�'��
�2�	�'

V���(-���)  →  mother / Mutter  ↔  m�re !!!
   (�'	.)         (����.)         (���.)         ($����.)

3�	
��4��-�	
������
�		�� ����	�����*���'����
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ZX8��3�� �
���������
���P������C	���5��$

1)�����	��	��������	�3�����'
��������	�2��
	��
�	�	�$

Y���
��7���	�	�����2P�%�������	�����	���
�4	���	����


���
�	��������
�&������������	�	����
�	�	  �
�������
�	�%

������	���2�����	N$

�����
�
������	���������.��'
����4�������	���	�	��
�	��������3��	�3��
�&���%����������
����	����(�������4�	���	��

����	���2�����������U

������� ».

����>�����������'
��������


�#��!
�   	����	���.

 �	�	�
��������
�	��%�
��
������
3	7������	�	%���	��
	�������	��3� 
����
3� 
	� ��������� �
�#��!
��  	����	���

�	����Q4��������	
�������, 	�����������������4��������&���

�	���������	��
�2�R���	�����'
������
�	�.

������
�
��
������	���'
��������  ������
� 

Q�	�	��N�
�	�	�����N�����#	�������4�����
�	�	�R

�	��������	�4���	���������	
���������	�	�
�	��

QT������	�����
�
�#��!
� ��$����R%

��6�	�������
�	

��8���Q��		
���������
R����	������
����%
����	�����	�	�������	�
��	�	�́�����������$

!R ���������
�	����“gabu-gabu”.

��
��������4���D
��N�������2
������N�����#  L��>�_
���
V  �����������	
���Q�����������

��������L��>����MN  ��!
���������	
�&�����������4	
��	���MR������
����
�����������
�23��	����	��&  «�-/ �-»  ������'��
�	���	����	���  “g-/ k-/ h-”

�	�����������	��&���Q4���8�����'		��	
�»  �	&����&��
�	�

	�����N����4	���7��%���������	������������������
�	�����"
���'  «	�	
����#��&» – �����,  	'$$��	�����4�$%

�	��������
�	������������	���»

���
��������  «	�	
����#���»  
�����
����2��N�

 !!!):

�	�	�	� (������  «���/&7�/���») =→ gold,
��������Q�4�	���
������$�$R T→ gulf,

	�����������(��	����($����R =→ grow,
����	��Q�8������	'$.  «-
-») =→ corn,

 «���2����QT�����
5�R =→ hare%����4�.
e   ����������	� =→ gulp !!!!!

QT���<�	�	��/ ��	�������4	�����$R$

���7�	���“gulp”  �	→��“gabu”
�
��	����
��	��0)$"""����$���

�	
��
�$$!!!

����4������������
�	�������������������������������'

“gabu-gabu  nomu”  T  �4�����	��P�������������» !!!

�1���	����4���������N����	������
��%����	������8����	�����	��
���'

����;GrWD
UIWc@�;��������←��'������Q�'�����e�������	�����
�→�
�R

�������QT����	��
����6����$R           ↓
�		��	��Q�
��	��R
��	�	���
��

dFWW��Q����$R
�cVW�lk��Q��
$R
d<O�xu��Q����$R

�)������
!���T����

�	���Q��'��������$R���	�→ ���
��Q�����R�$

3�	
��4��-�	
������
�		�� ����	�����*���'����
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V	
�������������Q���'���	8���'������#������R��	����
����������

%���4	�
4���	�
���'�	
�'#%

��	��
������!
QL�����«�����	���7�������

�!!!).

 	��	��%��	�������������	�	�	������
����
��$�#(�������
�������	����������	�
� 	4	�����9	

�
���Y����$�(""�������
�������	��2�� �QV	
���%���
������%�!""SR� ���	��8���������
�$����4��	����Q�����	��ih**��	������R��
���7��
�	�����a��	��	��

�����N����
��
����������	��%�
�4�P�������
�4�X��
���a�%

���������
N
�%���4�	
�	����
��������  C������	�	%���	


�	�����+���
!»,  “+igni-sc�����b+agni”,

4������	%������	%���	��	����	�7������


�
�(����	���������  �	-���  ���	����

Q�7��

�	%�	���������!  T  «
�����»),

�	�����	�����
)������������������'#  	����	�'#».

NB !!!
1	�
��2����7�2���2�	�	������
��	���	�	��↑��
��
��

��	%

��	
Q4	
�	����������������	��&���
�	��3

����� ���	������
����2���
��

�R

>��C��  ������ ��Q4���R������  «
�� / ���»

����bu>�R
↓
VCE�>c��Q��$R

��&�����2����������.�

�� ��'���������
������'��Q��������%�������
�#
��� !)

��'��	���
���#  «�'*!  →  �(&)��»��Q��
���'������M�R$

«�'!»�6����	��5�
	�����
�
4	�4	�	����������
��	
�����	�	�������	�	�
�2���$$M

;	���	���� �
���4	����		
��������#
«'
�����������������	���	����	���

�����	7�����2������ ����������'��
�
�»
���	����� �
�.

       «*������������(�	
�'�
��������
���	
�'».
�������$�����������e� �������$

 ����N����84�	���	��%�4	
�������N���������3������!
��#��&», «������#� � 	������� � �� � �����'� � �����(�#��6����
�	�	�����Y	���B����	��6���
�������N�	�
�	��3

«���
!»,  “ignis”  (��
$R�����“agni”  (	��	���
),

�����X�3�6�
		����
�����	�6�	��	����	�7�%���
��	�4�	�
3	�
�
X�3���������������
�	�����$

�������������� ..?

Z
����
3	������������� ��4���4	
2���%���	�������	
������ ��
�2���2��������������Q
�$���)��
��
�5���R%��	���	
������%���	����������������	������������
�	���������   �
�
����
��	��	����	���%��	�	��
�4	�������Q
	�������������;����4��
����&���� � 
�	��� � �→� ������ � � 
�2�R� ��2�������
��%�4���8�
4�����������		
�����������4	������%���	�6�
�	�����
��	�6����
	����	����6������	������
��a

�
���������N
�������	����	���  «
-»%�4	����
�4�����	�

�	�	�����	�	���;�
���	����6�����	��


?����2���
��

;4�	
��
�
��

�����������Q
���
�
����!!!)  ������  «
��»%����NX�����
��

�	���
�2����100%����Q�  �
���������	���, �  	����
�!
��	���)  	��
��
	
������������������

«���»  («������%����� ´´ ´´ ´���	�����4�$R


��	������2����L��>����M���	��
��
	
����»  «
-�» …

3�	
��4��-�	
������
�		�� ����	�����*���'����



114 115

L�������
�	�'
eache ← �-��́�,
eago ← b-ack,
eair ← ������(“vapor”  ←T  «���4���R%
eAmen ← )�	����%
eanti ← ���	����%
earc ←  ������%

(����.)  balk  ←  4����
earticle ← p-article,
eash ← 	��7�%
eeel ← k-eel��T��������Q	�������»),
enest ← �������	%
enet ← 
���������Q	�����
$�����
�����R%
enit ← �������%
eotter ← ��2�����Q	���������R%
eowl ← 	�	��%
erope ← ����8����

Q�	�����
��
�������
��
����%�������3�6����MR%
eudder ← ��������Q	������������R%
eudometer ← ��	�	���%
ewedd-ing ← 	����������(«- �»  �
����  T  “-ing”),

��4�$j
L�������	��&'

earena ← ��	�
��%
eecrire ← s-crivere  (	�����
$������	����������),
eetoile ← s-tella  (T��b8�xIkb��←��������),
eeau ← ��	��%
eelite ← ��	�	��%
e(h)anche ← �-
7-��,
eonda��Q��	����R��←�����	��%
eora ← ��	���́�QT��������»),
eosse ← ��	
��%
eursus ←  ����2���QT����������»),

��������	��2���$�$

B���	%����������
�����	������
�����  �� �
���	���	�����» !!!

D2����,
4	������
�
�����+���������������“f-uoco”,

4	��
4��
����6��bh-uego”  –
6���	��
�������3������'��
����!  �������2���	����	��� !

�����������������	%���	������
�
�������
4��
���

��
N�

��
�  «��
������������2��%
��4�	
�	�� �������������
�2����%

������P���

  (
�����  ������MR����  ���������
�2���$$d
Q^��������	����U

������� »!).

H����������������������������	����	����
4��
��
������4	�����	��
�3�
�2��3%

4�������7�X�3���

����   	����.

L	��4�����2���	�	���������%���
�2���������
�'��
�2�	�

Q�	4	��������	���7�	�����2����

���������

��  	��
��
	
���  	����	��&���������
�	�R$

L���

�	������������3��	�����	��&:
e�7 ← ���7�%
e���%�jak ← ����%
e��3�� ← ����3%
e��� ← ��������%
e	������ ← ��	���������Q	��������»),
e	������Q4�3���R� ← � �	������Q� 	��	���R%
e	�8� ← ��	�8���Q	����������́��R
e	
8� ← ��	�8���Q	�����	������R%
e��	�� ← �2����%
e���� ← ��������Q	�����
������R%
e���� ← ��������Q	��������»),

��4�$j

3�	
��4��-�	
������
�		�� ����	�����*���'����
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eoku ←  �	�%
eomou ← ��������%
eooro ← ��	�	���%
eori ← �-	��,́  h-our,
eosa ← b-oss,
eosa(-ge) ← �-	
�%
eosoi ← �-	�-(�)���%
eosore ← p-ozor��QT���	4�
�	
����6�	�����.),
eosu ← p-ush,
eoto ← s-ound,  L-aut,
eou ← g-o,
eoyu ← b-oil,
etori ← p-ter-os  (T  «�-��3��»),
euchi ← h-ut  ←  &����%
eude ← h-and,
eue ← �-��3%
eunagi ← w-�ng-orz  Q����	�$R��T�����	���%
euo ← ��	���%
eurushi ← v-arnish  Q����$R,
eusa ← 
�	
���%��V�>AA��Q����$R
euso ← ��	7�%
eusu ← ���
�Q�R�%
eutau ← ��2����→�������%
eutoi ← ���7	�%
eutsu ←  ����%

e����	�	������	�$

Y�	�����	�	%�4	��	�
N%���	N�����2����
�����	��	7�	�

�����

�������Q�	��
�����������
�
��  	����	��&��������  ����!
�������&��
�	�%����%���4�����%������
��	��&������
��	����
3���
�'		����  «��� – sil-va�R%�������������������

�'  	��
��
	
���
(T  «������������R����7������	�	�2���	������	������2����	�!
���	����  («s-t», �' ��-�' ����  «�-�/	�����4�$R�6�	�	��
8����	�%
4	��	�
N%�4	��	��	������������	�����������5  ������� »;

�� ��4���%�
���������!� 6� �	�� ��	� ���	� 4���������
�
�&����� �����
��������/��		
���������  '
�������� ���!
���������	����	������4������	���
�
4	�
�����
�	����$

L����	���	�	����
�	
������
������
�	��

Q���������	������������
����	���X����MR'

eabara ← �����	%��r-ib,
eabaraya ← &������%
eakai ← ����%
earai ←  �����2�%
eare ←  -��
,  f-ury,
ease ← �-	���QbU�8cR%
eashi ← �-�P�…  (T  «����»),  p-as,
eato ← �-��,  	�-��,  l-ead,
eawa ← f-oam,  �-���%
eaza ← ��
���	%��sp-ot,
eaze ← ���7�%
eeda ← �������%���������

(�������'		�. �e���R%��w-ood,
eeki ← �����%��l-eak,
eerai ← h-orri-ble,
eeri ← ��	��	����%
eido ← p-it    (��$  «�������»),
eiku ←  -��-���,  w-alk,
eito ← �-���%
einu ← k-ino(-log),  c-anis,  	�-��-	�%
eishi  (��������)  ←  ���
	��%

����������  pet*��←���'	$�������%
eiso-gu ← b-usy,
eita ← b-oard,
eiyana ← �-�
�2�%
eiyashii ← �-	P�2�%
emasu ← ���-��P�%
eoke ←  -��,  p-ack,
eoku ← d-ach  (����	�. ���.),  t-ak  ((���.),

3�	
��4��-�	
������
�		�� ����	�����*���'����
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!R��B�

4	��2���
��
��

�������������
4	�
�	�������	�	�23

	��������
�
����'  ������:

“gar/gerc��
	�����������������&»  (T  «���»):  agaru,  ageru;

“horoc��T��b���3�

“krc��
��	��������P�������������������
�»

(T  «���	�
����%������	����R'��kiru,  karu,  korosu;

“ko(o)rc��
	�������������'���	��2����Qkoori,  kooru,  koru);

“mar/warc��
	��������
�����
���X���

�������������2��'

“mari”,  “maru”,  “marui”,  “mawari”  � 4�.

PQ$

 ���8�����������������
�2��
��
��

����	��C���%

��	��������  «
�/war���Q����������

�	�MR�������  ����7�

2��
�2
��'

«
���X���

���Q�
��	��;porta»,  «
���X����������$�$R

�

Q����2��
��������

��  	��
��
	
���  «
-�»)

«
�����2��%���
��������%�����������;���	3	����T��bwar-ui”,

“war-eru” � �.�.

e
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��

bDJ�IcR%���	��X8�����4	�����7���������	
����	�3�
�	��	��	����!

�������	���(
'��j

2)  «+Huj»  �  “p-huj / �'� ”  �  ��'��������.  “Ph ..!”.

��
N���7�����(')�-���»  �  “pha-llos /������	”,

�������	�����
��'���2��Q�	
�	���	�»!)

��	�������
�	��“huj”  �	�	��������4�P������� »,

��4�����'������������	� ���������!»  (+  «	���'.���»);

(R����	�	  «=…��!»�������������	�>�� O
V  «���	
���!

�'#���
�
���
	�
�	�	���«����!»  («�-	»).

 ���8��������� ��
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�
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�2�%
����������������Q��������%��������!
��!)  ������
����	�	�	�	
�������
����3����3��Q�����!���7������
�'��
�	�MR

4	��	
��N�
	�4���N�'

�U��8�����4
����4	�����!».
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�	��
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4���8��	��4	
������	�
�	���������	��;�������R��4�	��	P��
��������	������
�	��

bD<O�zlc�����bD<O�zl�ykI�u�>I�j

SR�����	���4	����������	��������
������������
��	�����
���������«Job  
��#����
�!» …

����������������
��	��	�2��	�	���X�N�

�	������	!
(�������������(��'��6��	��
��%������������������������	����
�����2���	
���
��������	
�».

1	������
�	�	���Job …»  ��

�����>��  $�����  ������!


�������  ����������������	����“jebatj” – ��>T,

��	�– 	��������$���  ��	�����)��)���  ������� ..!!!

F��
���	%��2����&����4���4	�	7���%���	�����	���2���
7�����
��
��

��«
����
��»%�����	�������	�	�������	����

«*  job/jebal  ��	N�����M� –

– �	��
��%�
		����
�����	%�����	�
�2
�'
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�U�6���	���	��5M»,

������	��2�����	%���	%��	�%

«U  ����)��/ 
�&
��%������2!».

Y	��������P���4	�����7�����������
��!
����  ��	�
������	����
��
��

��Q������	�
�X�
���NX�
R���X8��	��������
��
��Q
��	�������
R����

��
�C����'

«H����	N�������jebal!».

������
���4	�	��������2����

�����
�	��%
��	�	������	
�������������������
������
4	���	�����


�	����������$

��;���6��6$

 	
�	������6��������	������
�	�	��bABCXc��Q����������!
���������bAaCX�@zcR��������������(�	
������������Q=u@��@zyr>z
HzyJ>Au��>mx>lzIk{%� 0OO!%� 
��$� (//R� � ������
��������
���

�	����bEQRR��;E7]R�Ic%�������P��������'��!������� �
��
Q�����3���

��3�
�	�����&����������������
���
��MMMR$

L�
�	N�	�������
�	����bEQRR�I�;�E7RR�Ic���	
3	�
������
���"
������&����!
�����Q��������%����
�#
����MMMR����

�	��
����#� ��	�'�� � Q�� � b5Q^c%� ����$� � b5_^�?@c� �T� ������������$�$%
�	�	�2����������

�	��7������	�	��	��
�	�	���	����������T

T��� �
��%��
��&�
��

Q������
�	���bA�c�����������
�	���6
6���	�4	�����
��������

������	;���R$

E�����	%�������/�����
����������(����4	�
������
�M

���26�2�E�5

G:
TTT

���p��V1Z  ��Q:  �E  2IHQ*!�

����
����4��
������������������
��6���	������»!

��	�	�������»
       1    2

�
���������	�����
�
���	�
	�
�	�	����
��» – �
�������������������������������������������������������������������������������������������������0������!

	4
������������M   	�	
��  	����	��&  «��-
�»  Q�
����%�4	�
C���5��
��%���4�����%�
�	�	��bpoids” �T��«��	����	7�������������
�����
	�»  ����?d��M�����

����
�	�	�

��'�+	»).

 ��� � ����	
�������� � Q����4��� ���	���������)  «�'��
4��������

�����������
�����bpoundc%��	�	�2���2����2����
���
�	��%�4	�	�����	���������	�
�	�	��Q������������R��4	�
������������	
���7���X8��	���������&7

����������
�2�����
��5�����QbPfund”).

1�������5��������	�����7������'����������$'�
�����4�	�
P���������
����	���X���%������������
�	����4	��2��4	��	
4�����	�%��	�������������	��������������������������%����

��������������������%

���N���	�����  «����������»

Q��4�����%�������5�	�������
�����������0""���%����)"%

���������������	7���2��N������
� ������2MR$
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E�4����
�	�����'

 	��	�����������������
�	�����N�2�6��$'�
  	
�����!
����%���	������������
�������	���%��������

“sterlingc�6���	�����	
����	��� ��  (	����� ��)».

������	����	�������4�	�����	
������	��������	
�����	!
	���#�6�	�	���
�������2�	���

���>��N,

�	��
����«�'	���»!
(=��&
����7����������
��
4����
��
�MRM

���#����L�����7�	�
������%��
���L2��	�7�2���4������
���5��2��
����	�%����	���	

�'	�������	�����	d

 �������	M����
��������7�	����	����	�����M

����������7�	�����������	����	�����2������
	���d
��������������������������������������������� ^�
�	 � ������ ��
�CC��
�����!�

 �������	M��Z�	���7�	;�	7�	�������������	�8��M

������  «� �������
	�»   «1  $'�
��	
��������»?

 �������	M��V	�	�52M T

T b£c�6
6��	��
����������.���'
��   “L”!

�����#��������d�� 	������bL”?

���4	�	��%���	��4	������
������$'�
���������
“LIBRA”!

Q\�	���4��
�	���2��C���5��
��������
�»  T��“livre”,
�� �	�	�2�;���	3	����
����P���8�2%
�� �	�	�2���	7�������� ���
�»!!!

�������������	�7��6��
�����6��������
�
��
��blira” !!!).

������������������� �������
��
�d�6� �������	M

�����
�MMM

  “Libra”  �=  «2�	�!»!!!
(“l-b-r” � «�"	"�»),

�	��
�����	����	����	���Q	����������R�MMM

���#����������%
�
���L�����7�	���4���������-7������P�d

 �������	M��1�7�	�	������	��/libry����	��������

«��Qg�������N��QT�����	
�») !!!!!

L	����4	�����	
�'

                «�I�» � «2IHQ_» � «��Q*»
             “POUND” � “LIVRE” � “DOLLAR”!!!

1�������%����2������	
4	��d

�	4	��������2����C	���5��M

0R  	���

��  ,�S=��	4�����8���N����������
���

QSS�������������R�����2����������� »

Q4���8����������������
�	
�������	��������!);

!R L�
��������	�	��Z��	4���2���bTOL-ar”;

(R  	�P���
��' ���	
�», «����
� T bDEL”,

 	�����5��' ���	
�», «����
� T bTEIL”
Q������

'����� �!»).

��������
������5��
�������������������
���2����
����
����»��T  “Tal-er”.
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L
4	���������������������T�������������»!

F�����%��
��-����6���	���T���«���-��»!

��L2�������% �9�9  �������	�	��	�  ���!����

�������
�	�	��bdollar”?

 ���������	MMM��`���52MMM

“DOLEC”  T��«��Q=;»!!!

^�	�4	������

d

��Q*   �   ��Q=; � DOLLAR/ TALER!

L	��L������	��������P���4�����%
�	�����������
����!
��  	����
���

4�	
�	��	�d>��

��	
?
!!!

 	�3��������P���Q������%�����7�RM

�
�������
�	�	�������»

����������  (	���MNTTTR���������
'

«#���!����������!	�
����QT���N+�����R$
        �


���������������+#���!»!!!

��������������'�����	��
	
�����
�
�	�	�������»  
�
���	����
����
!����!

���P�	%��	�����������
�	����
�	�	��bdole”

>�?�������������  (	���MN!!!R���������
'

“Dole”  T  1)  «���!	�
�������!R���	�'����  ����	��»
                             � ����
���������������������������QT�������R���������������QT����!���!��������������RMMMMM

^���������� ��&���
�2���Q��	����
	
������
???!!!)
«������	������
�	�	��bdolec���	��	������'��
�»

��������������������
�

������������
�ddd

PQ$
��	��
�	�����
�����4�	��	P�	��X8���
�	�	������
��M

�������%���	��
8�$$d�6�1��%������	�����
8�$$M

���	����	�%���	��X������2���������4	���2����%���	

��������  ����
���	������=�

«������&������	4��
��3� �������&��������

���N�����
�	�����������4�	�
3	7����� ..!!!

L���� ��7�� �	��7�� 
��2�� �«���/Pfund/$'�
/pound�
������
�	8�����������������������������
�����Q4	�C���5��
��%
��4�����%����	»  =  “poids”�6�4	
�	
��	��������������  «�-��R
����Z��	4���
4��
�	�  “pes-o”��Q���
��	���������������������
L��>������  �����������������	�����23��	����	��&  «�-
�R�6

6����7��	�
N�����6�4��
�	����
�����������$

 �	�	�7���������	
����#��
����������	�������
�	��
���������a

«3����	������Z��	4������P�����2���

�����������  '��!
	
��� � Q	�
N��%���4�����%� 6� ���
��
� � bDVOCMGGKc� ������
�	�
“landmark”R%�����	�2���	�� ������� ��	7�	��2�	� ������
�%� ��	%
�
��
�����	%���7�	��2�	����������
���

������	��$

 	�	��
�	�	������������4���P�	����������7��N�����
��5�%��������������������2������
�	�%�������������2��������5��
������������
��	
����	
� –

– «��������������������������a
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E�����	%�«���-������T����	�4�	
�	��«���-����%�����X8
��
���P���7�%�
����

�����	����� ���'#�����Q������	�M�
���
���R��
�CC��
	����������Q��8������%���4	������%������-������T�������

NX�������8������4�$R$

E	��
��%��	�����	������������)�������!»
������	

����������)��������M�$

�����NX����
�	����	����
�	����	����
��

��3����!
������� � ����7�23� �����5� 
����� � ������� � � 
�	��
���
�����Q→����4�����%����2�
�����“ban-i”�������������	!
������
�	�	��“mone-ta”  ←=  «��
�����R%������7��
�	�	��������
	/������	��$

�
	����	������'�
�������	�����	
��
�	�	���������	��%
��������	�	����	�����������������%����������
�
�����“sold-i”  T
«��
!�����Q��	�
N����→������������!!!R%���������
�����bU<WaTc

����	�����
���������!�����M
��	�����%�����'

������ T g-ulf,

��	�	�	 T g-old,

����8��2� T g-reen,

����������������������������� 
	��������� T gkl�%������	���
4�	����a

��	�	�����
����QT���	����
�R����
�	N�	�����������	��
C	��������
����$���
N����Q����2��
�	4
���7���L��>������
����������������������23���' ��-�' ��&��
	���
�23����-�/	�R
4�	��	P������������	������
�	��

“bank”,


��������
�	� “peng-ar”  T  «������»,

������
�	� “peng-o”,

������
�	� “penny”,

����5�	� “pfennig”  ��4�$�6

6������	��
��'�����3��↑��
�	��3��
	3�����

�������� 
��Q��4�����7�R��'����(�
��������
�CC��
�����-»

Q��C	�����“-g/-y” – c�$�����������MR%

��
	�N��	��
��
����������'����,

����������
�	���������'		������4�	�
3	7����
�MMM

1	��
8�7��
��2����
���)�	����!
� ��������������!
� 
���������

��8��������

�
��� ��� ������7�	��
�
���2�!!!

����$'�
������2��7�����������
�%���4�����	���8��
�	��

“penny”,  “farthing”,  “guinea”  ���“crown”.

E	%���	��“penny”�6���	��«��
���»��4	�����7��������	�
C���%���	���	� ��
�&���
�

��� ���
�����	��������	���� �
�	�	
��'��
�����Q����4�
�����MMMR����

�����'����(�
��������
�C�
C��
��«-�-»%����
	�N��	��
��	g��
��� ��������'		������C���	��'

“pence” – ��	�����	�	��penny���T�����	�	�������» !!!

E����	���%���	�������
�	���“-y”  ����	�5��
�	���6���	
4�������
����
���������

�����Q������	���	���

���MR�����-»,
«-������������'-»:

�Ih T ��'�����Q����$�
��	�����b�>GuxcR%
,h@M T  	�����M%
mkh T ����%
?Ih T �	���%��?IG�@z��Q���$R%
�Ih T �IG�Ik@��Q��$R%
AIh T AäG�I��QP���$R%
�lh T �IG�@��QC�$R%�����$�$

����e
�@zzh T �QwR@zz>G��6���������
�%����
��%�Z��	4�M
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�	�	��“fa-rthin-g”  	��	�����	����8�������9JJh_�

���L������  ��	
���  	����	��&��
��
�����������
�	�	�

«�	-���
�-��»

QbA�klyc��T������2��%��bA�JlIxc��T������2��������$�$R%

���7�	��������������
	
����	�	���
�	��
�����Q	R
������T�������	
��


����	�	�������������a

����P���6���	��P�M

biB>j�@�Vc��T���������
�

���4�	��	P���	����������

�	���	���2��«��
�».

�����	��7�����'�����4�	��	P�	���������
�	��
�	�	
bC<ajc T �����
���MMM

1	�
��	�����'
����4	������




����
����P���
�	�	���“crown”  =  «���
�» !!!
       ↑

   �,9I�������
����	��“-w-”  ?????

+>9,������������MMMMM��6��������L���
��7�M

Y	����������»  («����	���R���������C	�����������6�����
4�����%���
�	��������������Q�����������P����������������2���
��
���
����	�	
2%�������&���	�	�2%�����������������7���2������
���
� ���6����	�4	�	���7��4	�
������������


��
���	
��������(�#� !).

F�����%��������2���	
������

����������7��
�	������"
����

��������P������Q����	��
������)� �	���	��5	R%�������
�����	�	�	�	�4	������4���P�	

��������
�&
����������'?

��	����2���	
�

«8
�
�
�
�
�» !!!
         ↑

�����������?,���7����	�������
-»  ?????

���
����
4	�����%���	�����������
�����
�	��
���	���  «-������������������	�
�����23�
�2��3��L��>�����
�����'#
	�

Q��
$�����$ �3���� 6 “hill”,

��
$����$ ������ 6 ������%

�
���� 6 �
����%

���$�����$ “Stock” – “stick”�����$�$R%

�	�7����
���	���

������2����	����	
��	%�4	�	�����	��	���

«crown»������	%���������	���	�������	

�	����X���

���
	
�	
�����«���

�2» !!!

L	��L������������������� ����

���	�4��
�	���	������7�	��
�
���	�'

«��
��» → «penny»,
«�����

��» → «farthing»,
«��
�» → «guinea»

�������������� ����

�» → «crown» !!!

�����4��
�	���2���bUlc@O@>Gjc�6���	�7��4�	
�	����O
��	�����
���Q�	��
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NB.
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